)z T (€6 (W) ZZ) s S\ =G
& B 00083 A = e
S 24 8J1H “6” J&'lﬁ?ﬁkm&% Y5
== SN =2 i wio
H &) ®H Rk F - GF W
B HEBRREFEEXRIEEE S BREAR/ZMNEAR | VERBEA | BBEOMERN | A & E 2R - ‘%%‘FH(D”EIJ HIHIHE #w kO B Ik
&M T K | ’ s
_ = 26=8p 65| 28+ 115 ¥ i B ‘a%“ﬂ% ieds (B AL St ) [012)
R & % —) R = F B | B K MW E  E B OE R o B R
S0 Bl [318] A sl st 11140y, 24995,
3 B B E & | @ | B & HWAME NENE %AME %% a
B AN =5 21770 N  1198. 249CmJ 3820 13650, 326O‘L 24305 - 23604
1 2 D = { BB #% o B K eEARXEER M M B O B MW | meEss  ENESES
= _ k\\’i | \‘ ‘}
QPG-—FS64VZ = ER .10 | 12.80 % <H5 I i)
FAEORARITEH e
oA E D& B
EREORS 4 e =t <
ﬁﬁﬁ%@ﬁi B o ; 4 ol
{f}ﬂ @K%@i{i Pas Bl ) sl j MH :\ i B
:,4‘%;%’7;:7; | il g4l ‘1‘ f
EBBMOETT S B = e T AP . el | | ifi
T e o I Y
BimaR, BEELEA [(BRAERFD SR EMR L] SREMHS %%‘?ﬁ;‘aéﬁi&; ol o
[2 7HEBH] FR28F11H11HE HH 5 0 % WL [ZBmERER] FHEEMH LS e ¥
B % & [éff“li}%:—ﬂ 51—-07869 il B
k2 THREERBELES %M EZERE [eofirEEE] (920) Bet#x2 2 200L 200 T
fERAEMEAS (NOx - PM) #e, TOHBBEOHEADOKRILIINO t
x + P Mx} R ik sk ¢ 9, B g -
40 0 A it \
[EfTHEBEFRTME] 313, 900km (#f1411A14H) \
[IREITHERMR=<ME] 218, 100km (FHK30411AH13 o
) T
FRl SERERKE, mEEKBEEHRMMME 99dB :
[ZRfEi]] 5 & % fF = |
1 EliEE ESiE
T Lty
& EahEE Sl



